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32 32-
32
H27 | H28 | H29 5 H30.1.1
28| 29| 30 (m)
68 5-508) S36.2.1 2750 | -1 | -4 | +5 +0.7 -9741 | 17533
69 S36.2.1 2041 | -3 | -1 | +5 +2.6 -9095 | 16478
1-492 )

70 52) S36.2.1 2360 | -2 | -3 | +6 +3.1 -1001.1 | 1.3347
11104 8-17-9) S36.2.1 2672 | -3 | 0 | +4 +3.0 -1269 | 25210
11106 1-441) S36.2.1 2980 | -3 | -3 | +4 -07 -10253 | 19312
11107 4-81) S36.2.1 2371 | -5 | -3 | +4 -6.2 -7804 | 15670
11108 2-205.3) S36.2.1 3295 | -3 | -5 | +4 -53 -4275 | 26054
11109 4-235) S36.2.1 2645 | -1 | -5 | +6 +1.7 -8030 | 18201

59 3-2) S58.1.1 2380 | -2 | -1 | +5 +3.2 -420 | 23137
11105 119 S36.2.1 3295 | +4 | -3 | +6 +1.9 -2204 | 3.0334
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33 33

7,.857m 1270m 160m 908m
10,195m
33 [ m ]
27 28 29
7,993 7,354 7,857
161 147 160
1370 1,133 1270
806 834 908
10,330 9,468 10,195
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14 33 46
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11 27
87 174 227
120 277 375
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35

35
4 5 6 7 8 9 10 11 12 1 2 3
2 3 8 6] 3 1 2 4 5 2 3 2 35
5 6 3 1 6] 2 6 1 2 2 o 6 34
0] (0] 0] (0] 0] (0] (0] 0] (0] 0] (0] (0] 0]
4 6 7 8 5 6] 3 4 3 4 o 2 46
1 (0] 3 (0] 0] (0] (0] 0] (0] 0] (0] 2 6
0] 6] e} 6] 0] 6] o 6] 6] ¢} o 6] 0]
4 3 5 1 1 1 (0] 4 2 2 3 1 27
37 30 22 37 11 16 15 13 9 2 7 28| 227
53 48 48 47 20 20 26 26 21 12 13 41| 375
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29 30
8 24 8 31|1 24 1 31
0.016 0.033 0.025
0017 0.031 0.024
0.023 0.044 0.034
pg-TEQ/ 37
26 27 28 29
0.046 0.026 0.024 0.025
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0.048 4.6pg-TEQ

1,000pg-TEQ 38
Pg-TEQ/ 38

27 28 29
83 83 25
1.8 39 0.048
0011 022 4.6

25pg-TEQ g 51pg-TEQ g 150pg-TEQ g
39
Pg-TEQ/g 39

27 28 29
6.3 55 25
23 9.9 51

0.58pg-TEQ/ 1pg-TEQ/
0.1pg-TEQ/
28
0.5pg-TEQ/ 40
pg-TEQ/g 40

27 28 29
087 1.6 1.1
0.98 0.97 0.58
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